Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS

STACBOND

1 VERTICAL SECTION HORIZONTAL JOINT

2 VERTICAL SECTION LOWER CLADDING END
3 VERTICAL SECTION PARAPET RETURN

4 VERTICAL SECTION WINDOW HEAD

5 VERTICAL SECTION WINDOWS SILL

6 HORIZONTAL SECTION VERTICAL JOINT

7 HORIZONTAL SECTION OUTER CORNER

8 HORIZONTAL SECTION INNER CORNER

9 HORIZONTAL SECTION WINDOW JAMB
10 HORIZONTAL SECTION ROUNDED CORNER
11 HORIZONTAL SECTION LATERAL CLADDING END
12 VERTICAL SECTION CEILING

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION

STACBOND

HORIZONTAL JOINT CH45.01.01
1:2 (A4) |
i \
|
100 i 310 mm 0
1
5 i
| /*@Wt}
L
s || |
8 |
p— ‘ 7/// _
7
6 L e
7 H ‘
of
f \
\\\77
N
6 AN
N
|
1 )
1
1
|
2 |
1
|
|
|
5 3
I I
| e ‘
] ! i
o | N ‘
3
4]
1 STACBOND panel cassette 9 Self-drilling screw
2 Profile OMEGA 10 Aluminium plate for fixing and riveting
3 Spacer DOUBLE T 11 Auxiliar profile
4 Through screw M 6 x 60/70 12 Water drainage folded sheet
5 Bracket set external 13 Water drainage holes
6 Cassettes forming plate
7 Stiffener from STACBOND panel
8 Blind rivet

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION

STACBOND

LOWER CLADDING END CH45.02.01
|
1:2,5 (A4) |
H i 7\
|
|
| 0
|
T—E T
o 4
!
i
|
_ ,// -
(V4
6 e
| 1
1 STACBOND panel cassette 9 Self-drilling screw
2 Profile OMEGA 10 Aluminium plate for fixing and riveting
3 Spacer DOUBLE T 11 Auxiliar profile
4 Through screw M 6 x 60/70 12 Water drainage folded sheet
5 Bracket set external 13 Water drainage holes
6 Cassettes forming plate
7 Stiffener from STACBOND panel
8 Blind rivet

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS STGC BON D

VERTICAL SECTION
LOWER CLADDING END CH45.02.02

1:2,5 (Ad) —

o]
N
=\\\4
RN
v

10
—

N T@ E@T@

1 STACBOND panel cassette 9 Self-drilling screw

2 Profile OMEGA 10 Aluminium plate for fixing and riveting

3 Spacer DOUBLE T 11 Auxiliar profile

4 Through screw M 6 x 60/70 12 Water drainage folded sheet

5 Bracket set external 13 Water drainage holes

6 Cassettes forming plate

7 Stiffener from STACBOND panel

8 Blind rivet REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018 Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION
PARAPET RETURN

STACBOND

CH45.03.01

1:2,5 (Ad)

|
100 ||l 310 mm

L i e =

6]
| =
| e (
| o _
| 1 O
} ~ ‘:/
B | VR0;
|| =l = O
L— | “/ N7
NS N WA
O ),
\‘,/7\»/ _
I
|
A
1 STACBOND panel cassette 9 Self-drilling screw
2 Profile OMEGA 10 Aluminium plate for fixing and riveting
3 Spacer DOUBLE T 11 Auxiliar profile
4 Through screw M 6 x 60/70 12 Water drainage folded sheet
5 Bracket set external 13 Water drainage holes
6 Cassettes forming plate
7 Stiffener from STACBOND panel
8 Blind rivet REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




SYSTEM STB-CH45
CONSTRUCTION DETAILS

VERTICAL SECTION
PARAPET RETURN

STACBOND

CH45.03.02

1:2,5 (Ad)

[e] [o] [e] 0]

L

()]

‘uonejoIA 1ybuAdoo e sejnysuoo
JUBWNOOP SIY} JO UOIBUWIOJSUEBI) JO/PUE UOIEDIUNWIWOD
olgnd ‘uonnqguisip ‘uononpolidas pasuoyineun Auy

"SI pUB UOIBIOSIP UMO Jiay} 0} J08[gns S|
11 pue ‘suosiad paj|ys Ajjeoluyos) Aq uonen|eas 1o} papusiul
‘@se0 AUe Ul ‘SI Yolym asn sy 1o} 8|qisuodsal Jou S ;OVIS

‘abueyo Aew } pue ‘Ajuo asn
Jen}deouod Joj si uonewIoUl SIyL

9 Self-drilling screw

1 STACBOND panel cassette
2 Profile OMEGA

10 Aluminium plate for fixing and riveting

11 Auxiliar profile

3 Spacer DOUBLE T

12 Water drainage folded sheet

4 Through screw M 6 x 60/70

13 Water drainage holes

5 Bracket set external

6 Cassettes forming plate

7 Stiffener from STACBOND panel

8 Blind rivet

REV 08/18

Q@ www.stac.es

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018



Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION
WINDOW HEAD

STACBOND

CH45.04.01

1:2 (A4)

4
3]

b

XZ

e

100

|
-0 <
(e
(- //\ il7mEs
// Hff
| Y
x
a1

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet
13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION
WINDOWS HEAD

STACBOND

CH45.04.02

1:2 (A4)

100 {[: 310 mm

5]
o
i
8]
I

Q‘W/

6

1 STACBOND panel cassette

2 Profile OMEGA

3 Spacer DOUBLE T

4 Through screw M 6 x 60/70

5 Bracket set external

6 Cassettes forming plate

7 Stiffener from STACBOND panel
8

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION
WINDOWS SILL

STACBOND

CH45.05.01

1:2 (A4)

100 |[! 310 mm

i
=)
2

By,
oA an DH

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION
WINDOW SILL

STACBOND

CH45.05.02

1:2 (A4)

100

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

o ) [o] (o] = =
10

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION
WINDOW SILL

STACBOND

CH45.05.03

1:2 (A4)

100 [\t 310 mm

\
R F/%

N
=N

ERERERERERN
— T T, NS
A U
,4

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet
13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
HORIZONTAL SECTION
VERTICAL JOINT

STACBOND

CH45.06.01

1:2 (A4)

T

N
N
S
S
o
[ap)
o
o
1 STACBOND panel cassette 9 Self-drilling screw
2 Profile OMEGA 10 Aluminium plate for fixing and riveting
3 Spacer DOUBLE T 11 Auxiliar profile
4 Through screw M 6 x 60/70 12 Water drainage folded sheet
5 Bracket set external 13 Water drainage holes
6 Cassettes forming plate
7 Stiffener from STACBOND panel
8 Blind rivet REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
HORIZONTAL SECTION
OUTER SECTION

STACBOND

CH45.07.01

1:2,5 (A4)

B

N

10\
|
&

ta]

..[310 mm

100 .

,

®-

~ L@@

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
HORIZONTAL SECTION

STACBOND

INNER CORNER CH45.08.01
| |

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
HORIZONTAL SECTION
ESQUINA INTERIOR

STACBOND

CH45.08.02

1:2,5 (Ad)

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es



Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
HORIZONTAL SECTION
INNER CORNER

STACBOND

CH45.08.03

1:2,5 (Ad)

o s,
W)
Em=m=m= =7
A

100 ...1310 mm

e

1
2
3
4
5

6
7
8

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es



Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
HORIZONTAL SECTION
WINDOWS JAMB

STACBOND

CH45.09.01

1:2,5 (Ad)

A
N I T T T T T T T T TR
il

Vlvv

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
HORIZONTAL SECTION
ROUNDED CORNER

STACBOND

CH45.10.01

F oo Yy,

>

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es



Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION
LATERAL CLADDING END

STACBOND

CH45.11.01

1:2 (A4)

STACBOND panel cassette
Profile OMEGA

Spacer DOUBLE T

Through screw M 6 x 60/70
Bracket set external

Cassettes forming plate
Stiffener from STACBOND panel

0 N O g A WODN -

Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




Any unauthorised reproduction, distribution, public

STAC® is not responsible for its use which is, in any case,

This information is for conceptual
use only, and it may change.

communication and/or transformation of this document

constitutes a copyright violation.

intended for evaluation by technically skilled persons, and it

is subject to their own discretion and risk.

SYSTEM STB-CH45

CONSTRUCTION DETAILS
VERTICAL SECTION
CEILING

STACBOND

CH45.12.01

1:4 (A4

B |
@/ @

Bt

-
w

1 STACBOND panel cassette

2 Profile OMEGA

3 Spacer DOUBLE T

4 Through screw M 6 x 60/70

5 Bracket set external

6 Cassettes forming plate

7 Stiffener from STACBOND panel
8 Blind rivet

9 Self-drilling screw
10 Aluminium plate for fixing and riveting
11 Auxiliar profile
12 Water drainage folded sheet

13 Water drainage holes

REV 08/18

© Sistemas Técnicos del Accesorio y Componentes, S.L.; Padrén 2018

Q@ www.stac.es




	Planos y vistas
	1. STB-CH FLAP 45 - ENG-COVER
	1. STB-CH FLAP 45 - ENG-CH45.01.01
	1. STB-CH FLAP 45 - ENG-CH45.02.01
	1. STB-CH FLAP 45 - ENG-CH45.02.02
	1. STB-CH FLAP 45 - ENG-CH45.03.01
	1. STB-CH FLAP 45 - ENG-CH45.03.02
	1. STB-CH FLAP 45 - ENG-CH45.04.01
	1. STB-CH FLAP 45 - ENG-CH45.04.02
	1. STB-CH FLAP 45 - ENG-CH45.05.01
	1. STB-CH FLAP 45 - ENG-CH45.05.02
	1. STB-CH FLAP 45 - ENG-CH45.05.03
	1. STB-CH FLAP 45 - ENG-CH45.06.01
	1. STB-CH FLAP 45 - ENG-CH45.07.01
	1. STB-CH FLAP 45 - ENG-CH45.08.01
	1. STB-CH FLAP 45 - ENG-CH45.08.02
	1. STB-CH FLAP 45 - ENG-CH45.08.03
	1. STB-CH FLAP 45 - ENG-CH45.09.01
	1. STB-CH FLAP 45 - ENG-CH45.10.01
	1. STB-CH FLAP 45 - ENG-CH45.11.01
	1. STB-CH FLAP 45 - ENG-CH45.12.01


